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H = 0l & AF &2 H M A
2048 = =A 2 g At H =21
SH: 2
M MEo
CHel: S22 A X222 (=& &)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hns2
T2 28,906,211 26,603,562 2,302,649
= 774,000 770,000 4,000
= 390,905 390,905 0
< 890,000 690,000 200,000
Al 26,851,306 24,752,657 2,098,649
ME0lR 2,502,251 2,291,612 210,639
SZANE SR 2,502,251 2,291,612 210,639
b2, Bots x| 2,169,211 1,958,572 210,639
206 i = bl 187,500 136,861 50,639
01 M= bl 187,500 136,861 50,639
Oz - 2ots BE=XtH 4338 60,000,000 60,000 49,361 10,639
Otz - 2205 EZI| d& 57,000,000 57,000 47,000 10,000
OZEFYE Nes8I /N
a8 69,000,000 69,000 39,000 30,000
401 Al HI L 201 Y| 452,088 292,088 160,000
01 Al &bl 450,000 290,000 160,000
OJdiz  Bots dA 200,000 140,000 60,000
DOIMBEHA(LEXL) Bots &
a8 200,000,000& 200,000 140,000 60,000
Oz - 8Bots RANE=+ a3 250,000,000 250,000 150,000 100,000
C2uUsSY &= 13,546,347 11,715,167 1,831,180
= 774,000 770,000 4,000
T 610,000 410,000 200,000
Al 12,162,347 10,535, 167 1,627,180
A= AHI 9,754,104 8,197,224 1,556,880
= 774,000 770,000 4,000
T 610,000 410,000 200,000
Al 8,370,104 7,017,224 1,352,880
FAFIC~ItXlefol2t E2MHE 803,600 503,600 300,000
401 Al HI L 20| 803,600 503,600 300,000
01 Al& HI 800,000 500,000 300,000
O&3ZF1C~ItXlefol2t S22 & (L=1.4km, B=
800,000 500,000 300,000
20~30m)
> Al &l 43 & 800,000,000 800,000 500,000 300,000
SRZ 2 I 100,000 0 100,000
401 Al HI L 20| 100,000 0 100,000
01 Al& HI 100,000 0 100,000
Odgddz & - TABAH(L=1.31km B=30m) 100,000 0 100,000
> & Al & A B 100,000, 0003 =14 100,000 0 100,000
B8R ~=22[(6ME) =2 & ZF 701,440 201,440 500,000
401 AIEHI L 201 Y| 701,440 201,440 500,000
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SAH-AH -2 (SA) - HREAY - BES Ol A+ Iy H H &2
01 Al& Bl 700,000 200,000 500,000
Otlsu~E24e|(3BAI) &2 & A (L=1.25k
m, B=20m) 700,000 200,000 500,000
> Al &l 338 700,000,000 700,000 200,000 500,000
AUEZ RAES L IM2)) 1,203,600 1,003,600 200,000
401 AlEHI L 201 Y] 1,203,600 1,003,600 200,000
01 A& bl 1,200,000 1,000,000 200,000
OAUEZ SXNES L IMR2 (AL
a8 1,200,000,000& 1,200,000 1,000,000 200,000
=20 Mz HIJoOIEAIE &X 503,600 503,600 0
= 200,000 0 200,000
Al 303,600 503,600 200,000
401 Al HI L £ 0HHI 503,600 503,600 0
= 200,000 0 200,000
Al 303,600 503,600 A 200,000
01 Al& Bl 500,000 500,000 0
O2tel ME&D HIJIEAIE &EXI(1,056m)(
T A ARRIH] 20084 0HR) 500,000 500,000 0
> Al &l 33 500,000,000& 500,000 500,000 0
T 200,000 0 200,000
Al 300,000 500,000 A200,000
SRFIC WXE HEAEY 50,000 0 50,000
401 Al HIL 200 50,000 0 50,000
01 A& HI 50,000 0 50,000
OYRFIC X2 MEAH 50,000 0 50,000
> A A& H 50,000,000& 14 50,000 0 50,000
HANZ(LAMS ZHOIME &) HFBALX A (L= 201,440 0 201,440
200m)
401 Al HI 2L 2 0HHI 201,440 0 201,440
01 A& HI 200,000 0 200,000
OFANZ(LAES 2MOIIE &) ot A LT
AFE (L=200 200,000,000& =14 200,000 0 200,000
03 AlE 201l 1,440 0 1,440
OAN&EL2UbI 200,000,000 %0.72/100 1,440 0 1,440
20148 =2 &7 22 4,000 0 4,000
= 4,000 0 4,000
401 Al HI L £ 0HHI 4,000 0 4,000
= 4,000 0 4,000
01 Al Bl 4,000 0 4,000
020144 =2 & 729 22| 4,000,000 14! 4,000 0 4,000
= 4,000 0 4,000
T2 0NdYUX HMAIE AXIALS 201,440 0 201,440
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SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
401 Al HIZ 20| 201,440 0 201,440
01 A& H| 200,000 0 200,000
OS2 0INYYUX HEAL XA
200,000, 0002 * 1Al 200,000 0 200,000
03 Al& 20 H 1,440 0 1,440
OAl & 2HHI 200,000,000 «0.72/100 1,440 0 1,440
c2 sxze 3,792,243 3,517,943 274,300
NE SIE S 3,389,363 3,115,063 274,300
201 LBt 99,066 75,766 23,300
01 AR 22| | 16,338 13,038 3,300
O1 LEr2H] 3,300 0 3,300
AN A T2 )2 (EBS) P
3,300,0008 x 14! 3,300 0 3,300
02 B22ZH] 82,728 62,728 20,000
O3 A& ZHl |Xidl 63,728 43,728 20,000
D> RI&ZEH X220 23X 60,000,000 60,000 40,000 20,000
405 XHaHE SH 581,500 330,500 251,000
01 MY EEF SH 581,500 330,500 251,000
OIeiamI L HMAII(15E)
22X 300,000,000 300,000 180,000 120,000
O2eiam) 2 HMEII(5E)
46,000,000 27X 92,000 0 92,000
OEaH HM&DI 3,000,0002 *13CH 39,000 0 39,000
CADIEEEA 3,963,240 3,723,240 240,000
= 280,000 280,000 0
Al 3,683,240 3,443,240 240,000
CAHEEZ(AZ)HA 3,264,816 3,024,816 240,000
SRS 16S (A3-280) S 2 A Z A 703,276 523,276 180,000
401 Al Y2 20| 703,276 523,276 180,000
01 Al&HI 700,000 520,000 180,000
OSHTRS 165 (A3-280) T2 & (L=120m, B=6m
) 700,000 520,000 180,000
> £ X0 2 Hl 2= 680,000,000 680,000 500,000 180,000
S ML H(A3-331) SRIMAZA 60,000 0 60,000
401 Al HI 2 20| 60,000 0 60,000
01 Al&HI 60,000 0 60,000
O/SHY H(A3-331) S2IH4 (L=60m, B=6m) 60,000 0 60,000
> 8 A 60,000,000 14l 60,000 0 60,000
HYSAAH (Z2 D) 113,321 92,491 20,830
oldy(E2 1) 64,343 52,525 11,818
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SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
ol 2| 64,343 52,525 11,818
101 1Al 64,343 52,525 11,818
01 2= 61,716 49,898 11,818
OAt 2% Z & 61,716,000 61,716 49,898 11,818
[2Zu(=21) 48,978 39,966 9,012
Jl= & 48,978 39,966 9,012
201 Let2dE] 26,958 21,726 5,232
01 ArR2t2lHl 24,906 19,674 5,232
O1 eet=ZHl 15,834 12,492 3,342
DEREM2I+2HI ZE 4,524,000 4,524 3,582 942
DAOIMEH EHEYE ZE 9,810,000& 9,810 8,910 900
>ItEIE ¢ 1,500, 0003 * 14! 1,500 0 1,500
O5 =&l 9,072 7,182 1,890
DOt S22 R & & 9,072,000 9,072 ,182 1,890
202 Oddl 17,820 14,040 3,780
01 = LH 4 Hi 17,820 14,040 3,780
O=U o di Z& 17,820,000 17,820 14,040 3,780




